N

x 7=

x5 =

. Ix8=

L 6x5=

9 x 9=

. Ox4=

p &Y=

. 6x10=

. 8x9=

. 5 x.6=

. 7x50 =

. 80x40=

. 70x10=

. 100x 700 =

. 5000x 0=

. 40x 8=

. 820x2=

. 4x125=

. 60 x 500 =

. 4x05=

MULTIPLICATION

MULTIPLICATION

(ExTenDED)

Starting point mathematics

1

-5, 800100 =

-]

. 42:6=
. 32:4=
. 30:5=
. 27+3=
. 40+5=
e 35+7=
A LERE
148 - 8=

. 36+9=

. 120+20=
. 1200+ 3=
. 150+ 30=

“4, 70005 10=

; 30000 +3=
. 80+2=

. 2400+ 30 =
. 1500 + 500 =

. 14:05=

DivisioN

(RELATED TO MULTIPLICATION! FACTS)

49 +7=

DivisioN (ExTeNDED)

R.I.C. Publications™ www.ricpublicafions.com.au

1. 10lotsof 2
2. 7 groups of 3
3. 70divided by 10

4. How many 6s in
36?

5. 5by7

6. 25 shared evenly
among 5

¥ Calculate the
"~ product of 5
and 9

8. 0 multiplied by 8

9. Share 30 evenly
among 6

0.

=,

3.

Mixep MuLTIPLICATION AND DivisioN' WoRD QUESTIONS

. One-third of 9

. 61imes 8

. How many times can you take

before you
reach zero?

60, how many
sixes?

. 27.shared evenly
among 9

. How many 10s
in 60?

. Seedlings were planted in 6
rows, with 4 plants in each row.
How many
plants are there?

oo

9 from 27 18.

. Share 40 lollies into eight bags.

20.

Six children were given

four dollars each.

How much was
that altogether?

How many
in each bag?

18 cards, 3 groups,
how many for
each group?

WORKING OUT SPACE

R |
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